Yo
I

i

Mma 5 E

T4 FERAMME FRKEMR) IR (-14n) BREFEE (E3R)

FuM 75 B B

s % PBAPFIMER

| B #BIZEXZE
g B #BIZREE
B oMs BEXRHE
HEZES 18-21-22-049



BEARRE £ F014 4 B2 B8 P BR (R B /K S RO BR (- 1 4m) R SUE B (S 3R)

% Ed R - BRTE By o = B {f ol | W =
HEATE 19, 332, 210
BMRIEEEH 19, 332, 210
BMRIEEEH 19, 332, 210
HEEE 19,094, 810
FEER 509, 434
1 BEERE 1.00 509, 434 509, 434
=%
HEEE 13,814, 161
2 EfE - BE 1.00 767, 291 767, 291
|
3 HRIFEEW —RFEE @mAM 73.50 45,931 3,375,928
km
4 WEZFEE Q) —RZFEE FAM 151.70 51,034 7,741, 857
km
b KIFEQ) BEREE AR 37.80 51,034 1,929, 085
km
4R 4,771,215
6 BRI 156. 50 30, 487 4,771,215
km
HERE 237, 400
HE 200, 000
T £BHER 1.00 200, 000 200, 000
=%
Z 0t 37, 400
8 MEIRERE E-AYUTHRE 1.00 37, 400 37, 400
=%
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% g i - AKSTiE B 2 B i & & w ZE
EERAEE 12,002, 719
ERE 12,002, 719 x 64.9% — 2,483 7,787, 281
HEEHBE 12,002, 719 + 7,787, 281 19, 790, 000
E R 7,129,491 + 200,000 7,329, 491
EEAGE 7,129, 491
E#ERE 200, 000
T DAt R i 7,129,491 x 53.85% ( 35% = (1 — 35% ) ) 3,839,230
BRI 7,329,491 + 3,839,230 11,168, 721
—REREFE 11,168,721 x 53.85% ( 35% = (1 — 35%) ) — 3,077 6,011,279
B ERE 11,168,721 + 6,011,279 17,180, 000
e LT 19,790,000 + 17,180, 000 36, 970, 000
HBETEMALE 36,970,000 x 10.00% 3,697, 000
HIBEEXB (IR E 36,970,000 + 3,697, 000 40, 667, 000
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2% - REER
£ 7 R - BAKTiE By B = B O{f € W E B &

F{EHED (55

A 2.50 58, 600. 00 146, 500
HEm (A)

A 2.50 51, 200. 00 128, 000
HER (B)

A 2.00 41, 600. 00 83, 200
B S HER

A 2.00 42, 200. 00 84,400
B = H AR

A 2.00 32, 400. 00 64, 800
AR L NOY

% 0.50 506, 900. 00 2,534
= 5 1E%HeH - 1.00K 509, 434. 00 509, 434
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&S :2
B - EfE - B Ik ED)
£ 7 R - BAKTiE By = B O{f | W E B &
REE S4 kY 2L
B 2.00 3,288.00 6,576 2.00H / 8H
MSIEERAR HMRMEERIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
EIEE D 200PSEY
B 0.50 185, 277.00 92,638 6.00H / 8H
AEEMR FRP
B 1.50 58, 410. 00 87,615 8H
FEHED (55
A 1.50 58, 600. 00 87,900
HEm (A)
A 2.25 51, 200. 00 115, 200
HER (B)
A 1.75 41, 600. 00 72, 800
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 3.00 31, 100. 00 93, 300
BIEHEE
A 3.00 25, 400. 00 76, 200
AR ELNOY
% 5.00 730, 754. 00 36, 537
= 5 1YE%HEH - 1.0048 767,291. 00 767, 291
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B BEREEN) —XZFEE @AM 1B&HY (14km)
£ 7 R - BAKTiE By = B O{f | W E B &
REE S4 kY 2L
B 1.00 3,288.00 3,288/2.00H / 8H
EIEE D 200PSEY
B 1.00 185, 277.00 185,277 6.00H / 8H
AEEMR FRP
B 1.00 58, 410. 00 58,410 8H
MSIEERAR HMERMEETRIEEa L, HIE28. 5
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BRI 15m  100kHz
B 1.00 9, 256. 00 9, 256
F{EHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42, 200. 00 84,400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =LY
% 2.00 630, 431. 00 12, 608
= 5 YEEREN 1400k m 45,931. 00 643, 039
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&% BEREEQ —XEFEE BHAR 1H%Y (12.6km)
£ i R - TR~k B {5 g B %5 = i %
REE SA4 kR 2L
=] 1.00 3,288.00 3,288/2.00H / 8H
EHED D 200PSE!
=] 1.00 185, 277. 00 185,277 6.00H / 8H
EELM FRP
=] 1.00 58, 410. 00 58,410 8H
MSIEERS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSS:RIf 3 & DGNSS
=] 1.00 25,575.00 25,575
BRI 1AM®  100kHz
=] 1.00 9, 256. 00 9, 256
EEHEM (GRED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42,200. 00 84, 400
RIS R
A 1.00 32, 400. 00 32,400
BIEBNF
A 1.00 31,100. 00 31,100
BIEWEE
A 1.00 25, 400. 00 25, 400
MR =730
% 2.00 630, 431. 00 12, 608
A& F EEREN : 12.60k m 51,034. 00 643, 039
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EE =)
B BREEQ) HREE AR 1B%HY (12.6km)
£ 7 R - BAKTiE By = B O{f | W E B &
REE S4 kY 2L
B 1.00 3,288.00 3,288/2.00H / 8H
EIEE D 200PSEY
B 1.00 185, 277.00 185,277 6.00H / 8H
AEEMR FRP
B 1.00 58, 410. 00 58,410 8H
MSIEERAR HMERMEETRIEEa L, HIE28. 5
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BRI 15m  100kHz
B 1.00 9, 256. 00 9, 256
F{EHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42, 200. 00 84,400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =LY
% 2.00 630, 431. 00 12, 608
= 5 YEEREN : 12.60km 51,034. 00 643, 039
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&S :6
2 . BREN 100k m& Y
£ 7 R - BARTiE BAGL 2 B O{f | 1 B &
F{EHED (55
A 12.00 58, 600. 00 703, 200
HEm (A)
A 16. 00 51, 200. 00 819, 200
e (B)
A 16. 00 41, 600. 00 665, 600
B S HER
A 8.00 42, 200. 00 337, 600
B = H AR
A 8.00 32, 400. 00 259, 200
BIEBF
A 8.00 31, 100. 00 248, 800
AR =LY
% 0.50 3,033, 600. 00 15, 168
= 5 YEZERES  100.00k m 30, 487. 00 3,048, 768
&5 .17
B EBBRR =1
£ 7 R - BIRTiE BAGL 2 B Of | # B &
XBRRRE
= 1.00 200, 000. 00 200, 000
= it 1E%HeH - 1.00K 200, 000. 00 200, 000
%5 :8
M BIEERE TE-42UIHRE =1
£ 7 R - BIRTiE BAGL 2 B Of | 1 B &
MEIERERE
= 1.00 37, 400. 00 37,400
= it 1E%HeH - 1.00K 37, 400. 00 37,400




